Test Physics Class 10th

Physics Chapter No 10 Jas Jr.fnhff
T. Marks =30 Time allowed 40 minutes
QNo, 1 MCQs Tick the correct option; LY R ] Ay

1 Waves transfer ; _LL(}/'/ J’b' 74y

Energy J./1 b | Wavelength 5“?{5 ¢ | Frequency (j”vg } d | Velocity il
2 The relation between velocity, frequency and wavelength is ; ﬂadﬁ ugm/ /z}é.fgwluj ,{ /:Cf u,dg,.,g
a v:% b v=Af c vf =1 d vA =f
3 | Radio waves are ; ST,
a Mechanical waves J{."i{ b | Electromagnetic ¢ | Compressional waves d | Longitudinal waves Jg;J' Lftf 4

9 s i E
4 | The number of waves passing through any point in one second is called; <wjéﬂu,«ﬁu@g;db'¢/f¢26(uﬁfé?v{!
a | Displacement et s b | Frequency Lf £j ¢ | Second £ d | Amplitude 3¢ &
5 The dependence of frequency of tuning fork is ; -ngvfi ﬁf"'}{ / J ST
a Length JU b | Mass Ul ¢ | Force Ul d | Amplitude ¥ J'.-’{l
6 Iftime periodT = 1.99s, Then Frequency will be; <Jngj:g/.;:n T =1.99si. r/' /’7
a 0.30Hz p | 040 Hz ¢ | 0-50 Hz 4 | 0.60 Hz
7 Repel tank is a device which is used to produce the ; «Lal:'nJWl é/L/'/l,g:ﬁLaJﬂﬁTug VQJ,‘/
a Sound wave #s.4sl- b | Mechanical waves J{:J{./.‘.’.{ ¢ | Water waves J#s/s d | Electrical waves Lg;_f }g /

Q No ,2 write the short answers of these question. 7x2=14 -"é e /‘7” L:AJLVZ’Q,)
i Define restoring Force ; _uﬁajh.;i{/?d/u’/}uéﬁ/
ii | Verify that ; v=fA S
iii | Define repel tank ; <JJJ/7J~QJ/
iv | Ifthe length of simple pendulum is doubled, then its time period will ; i £V U PR TS Nl i
v | Define Damped oscillation; ?_La:!/gagﬁﬁ/:l,gﬂ
vi If the frequency of wave 4Hz and wavelength 0.4m the speed of wave will be; ?Jngﬁ/u{gﬁnﬁ4-0£ﬁfgwu‘ﬂ4u%{)@,ﬁ
vii | Define pendulum and write the formula of time period of simple pendulum ; _inug/ﬂ//liK&@fﬁéﬁ;&ubu'ﬂb{?/}.&ﬂ%
QNo,3 Attempt both parts 5+4=9 -2‘§J’ .uguj,;éc,mygwu

a. How you Explain the wave? Write the differences between mechanical and electromagnetic waves. Give one example
of every one. _J;u")l/u(.fl/ u/yu,Ju/uwém ‘e !/’O‘J!Hﬁ‘:(--wé/ubéu’!{}/}

b. A simple pendulum complete one vibration in 2s .Find its length ; whereas g=9.8ms_2

g=9.8ms’ ,.?.u:/((;l’”éwJJI-LLV/J’(J,EQZJL/{DUQ@IH}%MV.{!
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